SCENARIO I   - Grade and Pay Retention

The following example is a GS-12, step 4 employee who accepts a GS-7 to work in the MEO.   The employee is eligible for grade retention because of the following:  the MEO qualifies as a reorganization that has been announced in writing; the employee has permanent career status and has held grades higher than the GS-7 for more than 52 weeks.  The following pay history is forecast for 4 years taking into account pay changes due to a within-grade, annual comparability increases (assuming a 2% increase each year), the end of grade retention and onset of pay retention, and 2 promotions.  

All calculations are done using base pay, which is the rate of pay retained under both grade and pay retention.  In all situations the employee will also receive 100% of any locality pay increase for the geographic location in which he works.   The figures used in the pay tables in this scenario are for illustrative purposes only and do not represent actual future 2% comparability increases.

1.     February 2004  - Employee is a GS-12, step 4 who is reduced in grade to GS-7.    Current base pay is $57,510.   GS-7, step 10 base pay is $38,311.   

         Comparing base pay at the GS-12, step 4 to top step of the GS-7, the GS-12/4 base pay is higher.   Therefore, the employee is placed on 

         grade retention.  His grade will be retained at the GS-12 for a maximum of two years.  He will receive 100% of annual comparability 

         increases and any within-grade increases as appropriate.

	2004 GS-12
	Step 1
	Step 2
	Step 3
	Step 4
	Step 5
	Step 6
	Step 7
	Step 8
	Step 9
	Step 10

	Base Pay
	52,281
	54,024
	55,767
	57,510
	59,253
	60,996
	62,739
	64,482
	66,225
	67,968


	2004 GS-7
	Step 1
	Step 2
	Step 3
	Step 4
	Step 5
	Step 6
	Step 7
	Step 8
	Step 9
	Step 10

	Base Pay
	29,473
	30,455
	31,437
	32,419
	33,401
	34,383
	35,365
	36,347
	37,329
	38,311


2.     January 2005  -  The President grants a 2% comparability increase in base pay.    The GS-12, step 4 pay is higher than GS-7, step 10 so the employee will 

        remain on grade retention.    Any annual locality pay increase will be added to the retained rate of base pay.

	2005 GS-12
	Step 1
	Step 2
	Step 3
	Step 4
	Step 5
	Step 6
	Step 7
	Step 8
	Step 9
	Step 10

	Base Pay
	53,327
	55,105
	56,883
	58,661
	60,439
	62,217
	63,995
	65,773
	67,551
	69,329


	2005 GS-7
	Step 1
	Step 2
	Step 3
	Step 4
	Step 5
	Step 6
	Step 7
	Step 8
	Step 9
	Step 10

	Base Pay
	30,062
	31,064
	32,066
	33,068
	34,070
	35,072
	36,074
	37,076
	38,078
	39,080


      3.     February 2005  -  The employee gets a scheduled within-grade increase to step 5 of the GS-12.  Annual base pay increases to $60,439. 

	2005 GS-12
	Step 1
	Step 2
	Step 3
	Step 4
	Step 5
	Step 6
	Step 7
	Step 8
	Step 9
	Step 10

	Base Pay
	53,327
	55,105
	56,883
	58,661
	60,439
	62,217
	63,995
	65,773
	67,551 
	69,329


4. January 2006 -  President approves a 2% comparability increase in base pay.   Employee remains on grade retention because the GS-12/5 ($61,646) is 

 higher than GS-7/10 ($39,861).

	2006 GS-12
	Step 1
	Step 2
	Step 3
	Step 4
	Step 5
	Step 6
	Step 7
	Step 8
	Step 9
	Step 10

	Base Pay
	54,394
	56,207
	58,020
	59,833
	61,646
	63,459
	65,272
	67,085
	68,898
	70,711


	2006 GS-7
	Step 1
	Step 2
	Step 3
	Step 4
	Step 5
	Step 6
	Step 7
	Step 8
	Step 9
	Step 10

	Base Pay
	30,663
	31,685
	32,707
	33,729
	34,751
	35,773
	36,795
	37,817
	38,839
	39,861


5. February 2006  -  Employee’s two-year entitlement to grade retention ends and entitlement to pay retention begins.  The employee’s pay will be 

set at the GS-7 level.   The rules for pay retention require that a comparison be made of 150% of the GS-7/10 rate of 

base pay ($39,861) or the retained grade rate of pay ($61,646), whichever is lower.

          
   Looking back to the 2006 base pay schedules (#4 above), the employee’s GS-12, step 5 rate of base pay is $61,646.   

                 150% of GS-7, step 10 = $59,792.    Pay must be set at the lower amount which results in a decrease in pay of  $1,854.

          

GS-12, step 5 pay  ……………………………….  = $61,646



          

150% of GS-7, step 10 pay ……. $39,861 x 150% = $59,792 - amount of pay to be retained.



    Because the employee is retaining pay that is higher than GS-7, step 10, he is placed at GS-7, step 00.

6. April 2006  -  Employee is promoted to the GS-9.   Comparing the retained rate of pay ($59,792) to step 10 of GS-9 ($48,768) we see that the retained 

   rate is higher.   Therefore, pay retention continues at $59,792, GS-9, step 00.

	2006 GS-9
	Step 1
	Step 2
	Step 3
	Step 4
	Step 5
	Step 6
	Step 7
	Step 8
	Step 9
	Step 10

	Base Pay
	37,509
	38,760
	40,011
	41,262
	42,513
	43,764
	45,015
	46,266
	47,517
	48,768


7. January 2007  -  The President approves a 2% comparability increase in base pay.   Because the employee is on pay retention, he will receive ½ of the 

 increase in step 10 of GS-9.         

	2007 GS-9
	Step 1
	Step 2
	Step 3
	Step 4
	Step 5
	Step 6
	Step 7
	Step 8
	Step 9
	Step 10

	Base Pay
	38,259
	39,535
	40,811
	42,087
	43,363
	44,639
	45,915
	47,191
	48,467
	49,743


	2006 GS-9
	Step 1
	Step 2
	Step 3
	Step 4
	Step 5
	Step 6
	Step 7
	Step 8
	Step 9
	Step 10

	Base Pay
	37,509
	38,760
	40,011
	41,262
	42,513
	43,764
	45,015
	46,266
	47,517
	48,768








Computation of comparability increase:
 2007 GS-9, Step 10   =   $49,743

 2006 GS-9, Step 10   =   -48,768




    975 divided by ½ = $488.

 $59,792  – 2006 retained rate

      +488 -  ½ comparability increase

 $60,280 – 2007 retained rate at GS-9/00.

  He will receive 100% of any geographic location pay.
8.       April 2007  -  Employee is promoted to the GS-11.    Since the retained pay of $60,280 cannot be met at step 10 of GS 11, the employee will continue to 

     retain the higher amount of $60,280. 

	2007 GS-11
	Step 1
	Step 2
	Step 3
	Step 4
	Step 5
	Step 6
	Step 7
	Step 8
	Step 9
	Step 10

	Base Pay
	46,291
	47834
	49,377
	50,920
	52,463
	54,006
	55,549
	57,092
	58,635
	60,178


9.       January 2008  -  President grants a 2% comparability increase in base pay.   Again we must compare GS-11, step 10 rates for 2007 and 2008 and calculate 

          ½ of that amount to determine the new pay retention entitlement amount. 

	2008 GS-11
	Step 1
	Step 2
	Step 3
	Step 4
	Step 5
	Step 6
	Step 7
	Step 8
	Step 9
	Step 10

	Base Pay
	47,217
	48,791
	50,365
	51,939
	53,513
	55,087
	56,661
	58,235
	59,809
	61,383


	2007 GS-11
	Step 1
	Step 2
	Step 3
	Step 4
	Step 5
	Step 6
	Step 7
	Step 8
	Step 9
	Step 10

	Base Pay
	46,291
	47,834
	49,377
	50,920
	52,463
	54,006
	55,549
	57,092
	58,635
	60,178


Computation of comparability increase:
 2008 GS-11, Step 10   =   $61,383

 2007 GS-11, Step 10   =   -60,178




    1,205 divided by ½ = $603

 $60,280  – 2007 retained rate

      +603 -  ½ comparability increase
 $60,883 – amount payable under pay retention in 2008.   Since this amount falls between steps 9 and 10 of 

     the 2008 GS-11 pay scale, the employee will be placed at GS-11, step 10, $61,383, and no 

     longer receive pay retention.
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